B2

He in the park yesterday.
Answer:

We to the beach last weekend.
Answer:

She a lot of snow last winter.
Answer:

They in the rain yesterday.
Answer:

I the thunderstorm yesterday evening.
Answer:

You during the heatwave last summer.
Answer:

The wind strongly yesterday.
Answer:

The temperature yesterday morning.
Answer:

It all night.
Answer:

The storm for hours.
Answer:




Answers

He in the park yesterday.

Answer: played

We to the beach last weekend.
Answer: went

She a lot of snow last winter.
Answer: had
They in the rain yesterday.

Answer: got wet

I the thunderstorm yesterday evening.
Answer: heard

You during the heatwave last summer.
Answer: sweated

The wind strongly yesterday.
Answer: blew

The temperature yesterday morning.

Answer: dropped

It all night.
Answer: rained

The storm for hours.
Answer: lasted



